Build Packages

Development, Implementation & Consulting

3 Options

- Pre-paid bucket of hours
- Team Plans
- Pay-as-you-go

OUR SERVICES



Salesforce Consulting



Salesforce Implementation



Salesforce Development



6 Maintenance and Support

CONTACT US:



(617) 500-7966

EMAIL:

info@leedssource.com

ADDRESS:

100 Access Road.

SeedsSource

Suite 210

Norwood, MA 02062

2 Build Packages Pre-Paid Bucket

Pre-Paid Bucket of Hours

BUILD PACKAGES





Option 1

Salesforce Consulting & Development - Flex Hours

		WITH S.A.M.S. ESSENTIALS PLAN		WITH S.A.M.S. PLUS PLAN		
HOURS	RATE	TOTAL	RATE	TOTAL	RATE	TOTAL
20	216	\$4,320	209	\$4,180	203	\$4,055
40	216	\$8,640	209	\$8,360	203	\$8,109
60	209	\$12,540	203	\$12,180	197	\$11,815
80	203	\$16,240	199	\$15,920	193	\$15,442
100	199	\$19,900	196	\$19,600	190	\$19,000
120	196	\$23,520	193	\$23,160	188	\$22,465

^{*}All hours expire after 24 months. *Additional 1% discount on all prices if enrolled in automatic refill.

Pre-Paid Hours

<u>Compare</u>

<u>Team Plans</u> <u>Pay-as-you-go</u> Option 2

Business Application Consulting & Development Team

Hiring a complete development team in-house is often more than you need in the long run and can take time and resources to build in a fashion that meets your timeline and goals.

The **benefit** to using us as a turnkey department is you get started faster, with the right people in place who are hyper focused on the initiatives at hand. No need to worry about hiring, benefits and long-term employment in-house. We can deliver transparent project management, top shelf consulting and all the engineering and dev-ops to bring it to life.

Turnkey | Expertise | Immediate Resource Access | Flexibility

You can use this service for:

Build Packages

- Data migrations
- Decision Support
- Automation
- Custom User Experiences
- Operations Optimization
- Systems Integrations
- Project Management
- App Development

- Customer Communities
- Experience Cloud Sites
- Data architecture
- Custom development
- System Administration
- · Permissions and Profiles
- · Apex, LWC, VF, Javascript, APIs



4 Build Packages Team Plans

Retainer Plans

Option 2

BUILD PACKAGES





Business Application Consulting & Development Team

TEAM PACKAGE	MONTHLY RETAINER	TEAM	
COMPLETE DEPARTMENT	\$72,000 320 10 10	Full Sr. Engineering Team w/PM Consultant/Business Analyst Monitoring + End User Support	
FULL STACK PLUS	\$65,000 320 10	Full Sr. Engineering Team w/PM Consultant/Business Analyst	
FULL STACK	\$32,000 180	Full Sr. Engineering Team w/PM	
MINI TEAM	\$22,000 120	Sr. Engineer w/PM	
PART TIME PRO	\$10,000 60	On-Call SME or Sr. Engineer	

Team Plans

<u>Compare</u>

<u>Pre-Paid Hours</u> <u>Pay-as-you-go</u>

^{*}Request Full Details

5 Build Packages Pay-as-you-go

Pay-as-you-go

Option 3

BUILD PACKAGES





Pay-as-you-go: Salesforce Consulting & Development

Fixed Rate: \$250 per hour

Development, Implementation & Consulting

Includes access to:

- Full Product/Project Management
- Sr. Consultants and Solution Architects
- Sr. Software Engineers/Developers

Pay-as-you-go

<u>Compare</u>

<u>Pre-Paid Hours</u> <u>Team Plans</u>



Compare Rates

BUILD PACKAGES





PLAN	RATE	DESCRIPTION
PRE-PAID BUCKET (BUILD)	PER HOUR: 196-216	20 HOUR BLOCKS, BULK RATE DISCOUNTS
TEAM PLANS (BUILD)	PER MONTH: RETAINER ADDITIONAL HOURS: 199	ON-CALL SERVICE, MONTHLY RETAINER PLANS STARTING AT 10,000
PAY-AS-YOU-GO (BUILD)	PER HOUR: 250	FLAT HOURLY RATE, NO COMMITMENT

OUR SERVICES



Salesforce Consulting



Salesforce Implementation



Salesforce Development



6 Maintenance and Support

CONTACT US:

(617) 500-7966

EMAIL:

CALL:

info@leedssource.com

5 LeedsSource

ADDRESS: 100 Access Road,

Suite 210

Norwood, MA 02062